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LABJNDu4 standard lightnessl*

Ya=Yw - nc=100,

I* L ABINDU4 =IN(A 17+ A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L agaNDua =IN(A 15+A2 ) (A2iAon) - (X=YIY,)

"%ﬁ@n5%zb %gbéésﬂ*w(gm 1847 g
I
1
1

* 00=1847,21, A7 W, A, =0,0438, ¢=0,42

I* 1g=1186,52, A7 007, A,=0,p024

I*3,=521,84)",=] | 8,52 ;= 18| agr?g"ga"m

,' |>h 1
axn=02  bxy=5

LABJINDu4

tristimulus value difference

Yo=Y - nc=100,
I* L ABINDU4 =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yyo)
I* L ABINDU4=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

L ualiSh %_&QESYAH%’A&@H 4
Iog(ﬂ‘(a:O 05, Ay 70EH7, A= 0/, 324 ?g)r?hcanon
dY3,6=0,01 Y,=18, dY=0 £ I>h=

XN=0,2

log (AY/Y) LABJINDu4

_ tristimulus value sensitivity

Sr_(AY/Y) Ync‘YW nc‘loo

I* L ABINDU4 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yno)

I* L ABINDU4=IN(A 17+ A2) (Ao Aon) - (X=YTYy)

AY/Y=Agn(A 17 A Y)Y=Agn(A 1A )Y
(dY/Vp5=0,0025, Ay=1,0, Ap=0,0438, ¢=0,42
(dY/Y),=0,0028, A=0,007, A,=0,0024
(dY/Y} 6=20044 Y,=18, dY=0,05

application
N range

log(dY/Y)=—2,54 m=-0,1L.> ~

I*,=1187 dY,=0,05 dY,/Y,=0, 0028& 1

xN=0,2 Xw=5

LABJINDu4
tristimulus value contrast
Yoc=Yw nc=100

I* L ABINDU4 =IN(A 17+ AR Y)/(A2nAon)  (Ynd/100<Y<=Yno)
L aganDua =IN(A 10+ A2X)/ (A Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}g=397,56, Ay=1,0, Ay =0,0438, ¢=0,42
I* I/ G 5B,08, /e PO F=0,0024

Ryl
et By "Lml? S

C,=(Y/AY)

range
=1
Xw=5

1
1
1
1
1 application
1
1
1

LABJNDu4 relative standard lightnessl*/I*
I Yoc=Yw - nc=100,

11 ABINDU4=IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yo)
1* | ABaNDU4 =IN(A 10 +A2 ) (A2iA0n) - (X=Y1Yy)
1*(3,6)=522 I* ,(18)=1187 J*\),(90)=1847

1* ggfI* =1,55, Ap=1,0, Ap,=0,0438, ¢=0,42
I* 1g/1* =1,00, A;;=0,007, 4,=0,0024
I* 3 fI* ;=0,43,1% =1186,52 Y;=18

log[i*/I* ]=0, m,=0,33

log(AY/AY,) LABJINDu4 relative

tristimulus value difference

NNy Yoc=Yw - nc=100,
1L ABINDU4 =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU4 =IN(A 17+ A2) (A2 Aon) - (X=YTYL)
dY/dY =(A1+A X (A1 +AY)

dYoy/dY,=4,43, Ay=1,0, Ay=0,0438, ¢=0,42

dY;g/dY,=1,00, A ,=0,007, A;=0,0024

dY3 ¢dY,=0,31 Y,=18, dY;=0,05 y

p

log [(AY/Y) 1 (AYIY),]

XN=0,2 Xw=5

LABJNDu4 relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
1%L ABINDU4=IN(A 17 +A2) (A2 Aon)  (X=YIYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)
(@Y/Y)of(dY N=0,88, Ay=1,0, Ay =0,0438, ¢=0,42
(dY/Y)g/(dY/Y)=1.00, A=0,007, £5,=0,0024
@YYy g(dY/YV)=1,24 Y, =18, dY=0,05

EES
log[(dY/Y)(dY/Y) =0, m=-0,13 1 .
I*=1187, dY,=0,05 dY,/Y,=0,0024 ?g’npg','ga""”
%=1

log [(Y/AY) 1 (YAY),]

XN=0,2 Xw=5

LABJNDu4 relative

tistimulus value contrast
ClCr=(YIAY(YIAY)y . =y, - =100

1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
11 ABINDU4 =IN(A 10 +A2) (A2 Aon)  (X=YTYL)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAY o (YIAY)=1,12, Ay=1.0, Ay =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A ,=0,007, A,;=0,0024
(Y/dY} g(Y/dY)=0,64 Y, =18, dY=0,05
log[(Y/dY)(Y/dY),]=0, m,=0,13

I*,=1187, dY,=0,05 Y,/d¥, %553~
r 1 application
1 range
Ix =1
il
XN=0,2 Xw=5

LABJNDu4 standard lightnessL*

YoeL*w -~ nc=100

L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/L00<Y<=Y,c)
L* 1 ABaNDua=IN(A 10+ A2 X)(AgyAon)  (X=Y/Y)
L OIS AR (018475

L*,=49,L* 1187 i
v ]
/ .

]
L*¢¢=1847,21, Ay |10, Ap=0,0438, ¢=0,42
L*15=1186,52, Ay, 1 1007, A,=0,0024
L"3 65218417 . 186,52 Y= 13

,,' .>h 1
S xn=0,2  Ixy=5

appllcatlon
ange

CED41-1A

logAY) LABJNDu4
AY tristimulus value difference
Yo=L*w  ne=100,

L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Ync/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 )/ (A2 Aon)  (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) XZY/Yu
Aonpss=L5, Aon a=1,0, see CIE 230:2019
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R A
lOQE}=0,08 AEIEND . 7,04 el
dY; 620,01 Y,=18, dY=0£5 1

A . %=1

XN=0,2 Xw=5

CED41-3A

log (AY/Y) LABJINDu4

tristimulus value sensitivi
S=@YHY) Yo=*w - :nc=100. 4

nc’

L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1nt A2 X)/(A2iAon)  (x=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0025, Ay;=1,0, Ay =0,0438, ¢=0,42
(dY/Y)g=0,0028, A=0,007, A4,=0,0024
(dY/Y} &=0,0044 Y,=18, dY=0,05

application
range

log(dY/Y)E—2,54 m=-0,T> ~ _ .
L+ 1187, 3Y,=0,05 cv,¥,=0, ooz%_

XN=0,2 Xw=5
CEDA41-5A
log (Y/AY) LABJINDu4
tristimulus value contrast
C=(Y/AY) VoS e o
L*Laganpua=IN(A1n+A2nY)/(A2nA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 X)/(A2iAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(YIdY}g=397,56, Ay=1,0, Ay =0,0438, ¢=0,42

L (OR300 A7 00358,-0.0024,
RS BRI S

oo/ VRS 87 m=013~> >

Y s
/”

application
range

CED41-7A
CED41-7N

LABJINDu4 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* L aganDua=IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Y,o)
L* L ApanDua=IN(A 10+ A2 ) (AziAon) — (X=Y/Y)
L*(3,6)=522,L% ,(18)=1187 L* (90)=1847

L*gg/L* 71,55, Ay=1,0, A»=0,0438, ¢=0,42

L*1g/L* =1.00, A,=0,007, A4,=0,0024

L*3dL*,=0,43,L%,~1186,52 Y=18

log[L*/L* =0, m,=0,33

L* =49, L* ,=1187

CED41-2A
log(AY/AY,) LABJINDu4 relative

tristimulus value difference
NN YomL*yy - =100,

L*LagaNDua=IN(A1n+A2Y)(A2rAn) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 10t A2X)(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,0, Ap=0,0438, ¢=0,42
dYgdY,=1,00, Ar=0.007, 40,0024 _
dYs,gdY,=0,31 Yu—1& dm—o 05 2
y

1 application
1 range
%=1

CED41-4A
1og [(AY/Y) I (AYIY),]

LABJNDu4 relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L aganpua=IN(A 1ntA2 ) (A2yAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(AY/Y)o(dY/Y)=0,88, Ay=1,0, Ay =0,0438, G=0,42
(dY/Y)g/(dY/Y)= .00, A=0,007, £5,=0,0024
@YYy g(dY/YV)=1,24 Y, =18, dY=0,05

a
log[(dY/Y)(dY/Y) =0, m=-0,13 1 .
L*=1187, dY,=0,05 dY,/Y,=0,0028 ?g’npg','ga""”
%=1

XNn=0,2 Xw=5

CED41-6A
log [(YIAY) / (YAY),]

LABJNDu4 relative
/Gy =(YIAYY(YIAY), t\|(st|n|‘_n*1|us value contrast

nc™

L*LaganDua=IN(A1n+A2Y)(A2rAon) (Yo 100<Y<=Yyo)
L* L aganDua=IN(A 10+ A2 ) (A2yAon) - (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY o (YIAY)=1,12, Ay=1.0, Ay =0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A ,=0,007, A,;=0,0024
(Y/dY} ¢(Y/dY)=0,64 Y,=18 dY;=0,05
log[(Y/dY)(Y/dY),]=0, m,=0,13

L*,=1187 dY,=0,05 Y /(D 353 1
1 application
1 range

=1

XNn=0,2 Xw=5

CED41-8A

TUB-test chart CED4; LABINDuU4*(Y) & L*(Y), Ynh=(Y&L*) wnc x=0,43, with more data
Absolute and relatlve lightness, sensmwty and contragt=Ab5, An=0, 007 Agn—O 0024, /&u—o 04
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